
Bal Bharati Public School NTPC Sipat 

Holiday Homework-Summer Break 

Class- XI Commerce 

English  

 

Project Work- Students can choose a topic on which to do their research/ interview, e.g. a 

student can choose the topic : “ Evolving food tastes in my neighbourhood” , “Corona 

pandemic and the fallout on families” etc 

The student will then write an essay/ write up / report etc. up to 1000 words on his/her 

research and submit it.  

( Project discussed with the students and project Sample shared ) 

Informatics Practices 

 

1. Draw a mind map for the chapter- Getting Started with Python  

2. Prepare a PowerPoint Presentation on SDG Goal 2: Zero Hunger to understand the 

importance of Zero Hunger, its targets, and how individuals and communities can 

contribute to achieving this Sustainable Development Goal. 

 

Business Studies 

1 .Write the answers of sample paper two and three from chapter -1 

2. 1. What does IBM stand for?  

a) International Business Management b) International Business Machines c) Indian 

Business Machines d) Innovative Business Models 

2. What is the full form of HCL? 

 a) Hindustan Computer Limited b) High Computing Labs c) Human Computing Lab d) 

Hosting Computer Limited 

3. The full form of TCS is: 

 a) Technical Consultancy Services b) Tata Consultancy Services c) Total Computer 

Solutions d) Technology Consultancy Systems 

4. What does HP stand for? 

 a) High Performance b) Hewlett Packard c) Hardware Professionals d) High-tech Product 

5. The acronym WIPRO stands for: 

 a) Western India Palm Refined Oil b) Wireless Product Organization c) World Innovative 

Products d) Web Intelligence Programming 

6. What does DRDO stand for?  

a) Department of Research and Defence Operations b) Defence Research and 

Development Organization c) Digital Research and Development Organization d) Direct 

Research for Defence Operations 

7. The full form of ISRO is:  

a) Indian Scientific Research Organization b) Indian Satellite Research Organization c) 

Indian Space Research Organization d) International Space Research Organization 

8. What does ONGC stand for?  

a) Oil and Natural Gas Corporation b) Online Natural Gas Company c) Organization for 

Natural Gas Corporation d) Oil and National Gas Cooperation 



9. What does LIC stand for?  

a) Legal Insurance Corporation b) Life Insurance Corporation c) Largest Insurance 

Corporation d) Lifetime Investment Company 

10. The full form of RBI is: a) Reserve Bank of India b) Registered Bank of India c) Royal 

Bank of India d) Regional Bank of India 

11. What does BSNL stand for?  

a) Bharat Sanchar Nigam Limited b) Bharat Satellite Network Limited c) Basic Services 

Network Limited d) Broadband Satellite Nigam Limited 

12. What is the full form of NTPC?  

a) National Transport Planning Corporation b) National Thermal Power Corporation c) New 

Technology Power Corporation d) Network Transmission Power Corporation 

13. What does UNESCO stand for?  

a) United Nations Education, Science, and Cultural Organization b) Universal Education, 

Science, and Cultural Organization c) United Nations Environmental Science and 

Cooperation Organization d) Universal Network of Education, Science, and Culture 

Organization 

14. The full form of WHO is:  

a) World Health Organization b) Worldwide Health Outreach c) World Hospitality 

Organization d) Wide Humanitarian Outreach 

15. What does NASA stand for?  

a) National Aerospace and Space Agency b) North American Space Administration c) 

National Aeronautics and Space Administration d) National Astronomical and Scientific 

Agency 

16. The acronym BHEL stands for:  

a) Bharat Heavy Electricals Limited b) Bharat High Energy Labs c) Broad Heavy Energy 

Limited d) Bharat Heavy Engineering Labs 

17. What is the full form of ITC?  

a) Indian Tobacco Company b) International Technology Corporation c) Information 

Technology Corporation d) Indian Trading Corporation 

18. What does AICTE stand for? 

 a) All India Council for Technical Education b) Advanced Institute for Computational 

Technical Engineering c) Allied International Council for Technical Education d) Association 

of Indian Council for Technical Education 

19. The full form of SEBI is:  

a) Securities and Exchange Bank of India b) Securities and Exchange Board of India c) 

Statutory Economic Board of India d) Stock and Exchange Board of India 

20. What does UNICEF stand for? 

 a) United Nations International Children's Emergency Fund b) Universal International 

Children's Emergency Fund c) United Nations Institute for Child Education and Freedom d) 

Universal Network for International Child Education Foundation 

3. Which of the following pairs correctly matches the multinational company with its 

country of origin? 

1. Google a) Japan b) United States c) Germany d) South Korea 

2. Toyota a) China b) United States c) Japan d) India 

3. Samsung a) South Korea b) United States c) Germany d) China 



4. Nestlé a) France b) Switzerland c) Italy d) Germany 

5. BMW a) United States b) Japan c) Germany d) South Korea 

6. Apple a) Germany b) South Korea c) Japan d) United States 

7. Huawei a) China b) Japan c) South Korea d) United States 

8. Volkswagen a) India b) Germany c) France d) United States 

9. Microsoft a) Japan b) United Kingdom c) United States d) South Korea 

10. L'Oréal a) France b) Italy c) Germany d) United States 

(Write in Bst Note Book) 

 

Accountancy 

 

1. What is one primary objective of accounting?  

a) To promote organizational culture   

b) To record, classify, and summarize financial transactions   

c) To determine government policies   

d) To provide entertainment   

2. Which of these objectives aligns with accounting principles? 

a) Recording only qualitative information   

b) Predicting future losses   

c) Assessing financial performance and position   

d) Manipulating tax records   

3. Accounting does NOT account for which of the following?   

a) Financial transactions   

b) Non-monetary factors like employee morale   

c) Profit and loss data   

d) Cash flows   

4. Which of the following is a limitation of accounting systems?  

a) They are 100% error-free   

b) They rely on estimates for some valuations   

c) They include personal opinions of employees   

d) They are exclusively technology-drive 

5. Who among the following is a primary user of accounting information?   

a) Competitors   

b) Investors   

c) General public   

d) Media   

6. Internal users of accounting information typically include:   

a) Shareholders   

b) Managers   

c) Government authorities   

d) Creditors   

   

7. Which of these is a qualitative characteristic of accounting information?   

a) Relevance   

b) Exactness   



c) Complexity   

d) Randomness   

8. Accounting information should possess which feature to improve decision-making?  

a) Comparability   

b) Irrelevance   

c) Ambiguity   

d) Bias     

9. What does bookkeeping primarily involve?   

a) Decision-making   

b) Recording financial transactions   

c) Auditing accounts   

d) Providing loans to businesses   

10. Who is typically responsible for bookkeeping in an organization? 

a) Managers   

b) Accountants   

c) Bookkeepers   

d) Directors    

11. A double-entry system of accounting means: 

a) Each transaction is recorded only once   

b) Both aspects of a transaction are recorded   

c) Only large transactions are recorded   

d) Transactions are recorded at random   

 

12. Which of the following is an example of a single-entry system? 

a) Recording both debits and credits   

b) Maintaining only a cash book   

c) Recording only liabilities   

d) Generating automated financial reports   

Q2 Bijan operates a small furniture manufacturing business. At the start of the financial 

year, his business had assets worth ₹10,00,000 and liabilities amounting to ₹4,00,000. 

During the year, Bijan secured a bank loan of ₹2,00,000 to expand operations. He also 

purchased machinery worth ₹3,00,000 and recorded revenue of ₹8,00,000 from sales. 

Expenses, including rent, raw materials, and wages, totalled ₹5,00,000. 

Using accounting concepts, answer the following questions: 

1. What is Bijan’s equity (owner’s capital) at the end of the financial year? a) 

₹6,00,000 b) ₹7,00,000 c) ₹8,00,000 d) ₹9,00,000 

2. Which accounting concept is reflected when Bijan records revenue from sales 

and expenses for the same period? a) Accrual Concept b) Going Concern Concept 

c) Consistency Concept d) Money Measurement Concept 

(Write in Accountancy Note Book) 

 

 

Economics 

Complete notes of chapter collection organisation and presentation of data. 



Physical Education 

Make a chart of balance diet and yoga asana 5- sitting and standing 

 

INTERDICIPLINARY 

 

Project Title: "Mid-Day Meal Programme: A Step Towards Zero Hunger" 

 

To understand how the Mid-Day Meal Programme contributes to achieving SDG Goal 2: 

Zero Hunger, while exploring its financial, social, economic, technological, physical, and 

communication aspects. 

 

 

1. Accountancy: 

    Analyse the allocation and expenditure of funds in the Mid-Day Meal  

    Programme for schools in Chhattisgarh for last five financial year 

    (24-25/23-24/22-23/21-22/20-21)      

 

2. Business Studies 

    Study and mention Information about Mapping of Fair Price Shop and   

    School of district Bilaspur (block -Masturi) 

3. Economics 

    Explore the economic impact of the programme on hunger reduction  

    and school attendance in Chhattisgarh.    

 

4. Information Practices (IP) 

    Importance of IT in mid-day meal programme  

 

5. Physical Education 

    Study and write  the nutritional benefits of the meals provided and their  

    impact on children’s physical health. 

 

6. English 

    Research and write essays or speeches about the significance of the  

    Mid-Day Meal Programme.(within 500 words) 

    

(prepare in a single project file) 

    

 

Refer: https://mdm.cg.nic.in/mdmreports/ 

 

 

 


